Fluid Statics- problem 3-26 solution

Friday, 7 March, 2025 08:11 AM

3-26 The basic barometer can be used to measure the
height of a building. If the barometric readings at the top and
at the bottom of a building are 730 and 755 mmHg, respec-
tively, determine the height of the building. Assume an aver-
age air density of 1.18 kg/m?.

Pyot= 755 mmHg

FIGURE P3-26
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This problem was solved by Civil Thinking (https://civilthinking.com)
If you need solutions for Fluid Mechanics or any other
Civil Engineering subject, contact us at:
solutions@civilthinking.com

Or submit your problem directly here:

& https://civilthinking.com/getproblemsolutions

Other Subjects We Cover:
Structural Analysis
Fluid Mechanics

{

Geotechnical Engineering

Transportation Engineering

Construction Management
Finite Element Analysis (FEM/FEA)

Engineering Software (ANSYS, ETABS, MATLAB, Revit,
STAAD.Pro, STAAD Foundation Advanced, SAP2000, etc)

Let us help you solve your engineering challenges! £
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